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Example
The annual rainfall of a place is observed from 1960-1979 and the data is as given in the table

below:
Annual Rainfall Annual Rainfall

Year (cm) Year (cm)

1960 115.00 1970 84.75
1961 110.75 1971 79.25
1962 94.50 1972 78.75
1963 74.00 1973 149.00
1964 87.50 1974 126.25
1965 124.25 1975 96.50
1966 91.50 1976 108.50
1967 81.25 1977 71.75
1968 154.25 1978 80.00
1969 118.50 1979 129.50

What is the probability that
i) The annual precipitation R in any given year < 87.5 (Event A)
ii) The annual precipitation R is between 87.5 and 112.5 (Event B)
ii) The annual precipitation Ris >112.5 (Event C)

What is the probability that there will be two successive years of annual rainfall < 100 cm
(Event D)

Solution
Number of observations = 20
i) The number of observations for Event A = 7.
Therefore, P(A) = 7/20 = 0.35
i) The number of observations for Event B =7

Therefore, P(A) = 0.35
iii) P(C) = 1-P(A)-P(B) = 1- 0.35-0.35 = 0.30

Let D be the event for first year having annual rainfall = 100 cm
Let F be the event for the second year having annual rainfall < 100 cm
Therefore, P(DNF) = P(F).P(D) = 0.55*0.55=0.3025
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